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Problem 3 (Lithuania) 

Quantum observations due to laser cooling (10 points) 

1. 87Rb atom has 87 nucleons and 37 electrons, hence: 87 + 37 = 124 subatomic particles in total, and 
124 is even. 23Na has 23 nucleons and 11 electrons‐ 34 subatomic particles. The number of 
electrons is equal to the number of protons in an atom, so it actually only depends on the number 
of neutrons‐ if it is even, then the atom is a boson. 

2. Two lasers in every possible dimension, therefore 6 lasers in 3D. 

3. The general equation is: ܧ௞ ൌ ௙
ଶ

kT, where f is the number of degrees of freedom and for 

monatomic gas it is 3. As we can see, the kinetic energy only depends on the type of the gas. 
Because both sodium and rubidium gasses are monatomic their average kinetic energies are equal:   

௞ܧ ൌ ଷ
ଶ

kT ൌ 1.5 כ 1.380 כ 10ିଶଷJ/K כ ሺ25.00 ൅ 273.15ሻܭ ൌ  6.172 כ 10ିଶଵJ 

ݒ .4 ൌ ටଷୖT
ெ

ൌ ඨ
ଷ଼כ.ଷଵସ ಻

೘೚೗כ಼כଵ଻଴.଴כଵ଴^ሺିଽሻ௄

଼଻.଴଴כଵ଴^ሺିଷሻ ೖ೒
೘೚೗

ൌ  6.981 ൈ 10ିଷ ௠
௦

ൌ 6.981 ௠௠
௦
 

ܧ .5 ൌ ୦ୡ
λ

ൌ
଺.଺ଶ଺כଵ଴షయర ୎ୱ  כଶ.ଽଽ ଼כଵ଴ఴ࢓

࢙
଻଼଴.଴כଵ଴షవ୫

ൌ  2.54676 כ 10ିଵଽ ܬ 
6. This energy corresponds to the energy needed for the electron of rubidium to go from the s orbital 

of the fifth layer to the p orbital of the same layer: 5sଵ ՜  ଵ݌5
7. The general Doppler effect is expressed in the following way for the moving detector (atom) and 

stationary source (laser): 

݂ᇱ ൌ ݂
v േ dݒ

v  

Where f’ is the frequency observed by the detector and f is the frequency of the source. If we put 
f’=f(atom), f= f(laser), v= c, v(d)= v(atom) then: 

ୟ݂୲୭୫ ൌ ୪݂ୟୱୣ୰
c േ ୟ୲୭୫ݒ

c
ൌ ୪݂ୟୱୣ୰ሺ1 േ

ୟ୲୭୫ݒ

c
ሻ 

Because we want for the atoms to slow down when they are moving towards the laser, so the frequency 

detected by the atom increases. So we take v/c positive. If we then divide byቀ1 ൅ ௩౗౪౥ౣ
c

ቁ we obtain the 
desired equation 

୪݂ୟୱୣ୰ ൌ ୟ݂୲୭୫

ቀ1 ൅ ୟ୲୭୫ݒ
c ቁ

 

Due to the fact that the speed of the atoms is really small, compared to the speed of light, we do not have 
to take the relativity into account. 

߂ .8 ௔݂௧௢௠ ൌ ௩౗౪౥ౣ
௖ ୪݂ୟୱୣ୰ ൌ ௩౗౪౥ౣכ௖

௖כλ
ൌ

ටయ౎T
ಾ

λ
ൌ

ටయכఴ.యభరכሺమఱ.బబశమళయ.భఱሻ
ఴళכభబషయ

଻଼଴.଴כଵ଴షవ ൌ
3.748 ൈ  ݖܪ108

Compared to the 3.846×1014 Hz frequency of thelaser it is not a lot, so during the experiments the 
scientists usually detune the lasers using the trial and error method. 
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Problem 4 (Latvia) 

Chemistry of green compounds (5 points) 
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Solutions for questions 8 – 10 coppied from Jurgis Kuliesius (Lithuania). 

Each question was graded with max 0.5 points. Questions 1‐5 were awarded with maximum points also without complete solution (due to errors in 
problem text). 

Problem 5 (Chemical rebuss) 

Chemical rebuss (5 points) 

1. 
A – NOCl 
B – HCl 
C – HNO3 
D – NO 
E – Cl2 

F – HNO2 
G – H2SO4 
H – NOHSO4 
I – Cu 
J ‐ Cu(NO3)2 

K – HCN 
L – CNCl 
M – (CN)2 
N – NO2 

2. 

molkJNOClH gf /71.51)( )(
0 =Δ  

molkJNOH gf /25.90)( )(
0 =Δ  

)/(69.261)( )(
0 KmolJNOClS g ⋅=  

)/(761.210)( )(
0 KmolJNOS g ⋅=  

)/(066.223)( )(2
0 KmolJClS g ⋅=  

)(2)()( 22 ggg ClNONOCl +↔     molkJH r /08.770 =Δ   )/(21.1210 KmolJSr ⋅=Δ  

4400)/(314.8
)/(21.121400/77080

1084.1 −⋅⋅
⋅⋅−

−Δ−Δ
−

×=== KKmolJ
KmolJKmolJ

RT
STH

eeK
rr

 

5
4

1053.5
400008314.0

1084.1
)(

−
−

Δ ×=
⋅

×
== n

p
C RT

K
K  

[ ]
[ ] [ ] MNOCl

MNOCl
00.0

50.0

002

0

==
=
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[ ] [ ]
[ ]

5
2

3

2
2

2

1053.5
)250.0(

4 −×=
−

==
x

x
NOCl

ClNO
K  

[ ]
[ ]
[ ] MCl

MNO
MNOCl

x

0145.0
029.00145.02

471.00145.025.0
0145.0

050.00001382- x0.0001106+ x0.0002212- x4

2

23

≈
≈⋅=

≈⋅−=
≈

=

 

 
3. 

)(5.0)(5.1
)(

)(5.0)(5.1
)(

)()()(
)()(

002 NOClpNOClp
NOClp

NOClnNOCln
NOCln

ClnNOnNOCln
NOClnNOCl

−
=

−
=

++
=χ

 
For example p(NOCl)0=1bar, then: 

K
molKJmolKJ
molJ

KRS
HT

KK

barClp
barNOp

barNOClp

p

1343
)1015.2ln()/(314.8)/(21.121

/77080
ln

1015.2
)0149.0(
493.0985.0

493.0)(
985.0)(

0149.0)(

3

3
2

2

2

=
×⋅−

=
−Δ
Δ

=

×=
⋅

==

=
=
=

 

 


